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10, Prcfumnh.;l sp._\nd‘ng on facilities for

dlsadv.mtagvd communities is an
example of

(A) Equality of opportunity
(B) Affirmative action

(C) Equal rights
(D) None of the
Larva of Cole
(A) Grub
(C) Mrub

The smallest §
divisible by 12 -y
(A) 10224
(C) 10080

gompute the heat Benerated while transferring
6000 Coulomb of charge in one hour through
potential difference of 50 V.

(A) 3.8x 10} (B) 4.8 x 10°)
(C) 4.8x 10 (D) 3.8x 10°)

The ratio of milk and water in 66 litres of
adulterated milk is § 1. Water is added to it
to make the ratio 5 : 3. The quantity of water
added is

(A) 16.500 litres
(C) 22 litres

abo
» § b

Optera is known as
(8) Crub
(D) Puppa
digit number which is
+18and 21 js
(B) 30256
(D) 50321

12,

(B) 24.750 litres
(D) 20 litres

America on Nagasaki was
(A) Fat Man (B) Little Boy \$$’
(C) Little Baby (D) None of s& above
Which number will come in the place of
guestion mark ?
3,4,13,38,87,?
(A) 166 (B) 164
(C) 168 (D) 162
In Excel, referring to cells by their column and
row labels is called
(A) Mixed referencing
(B) Relative referencing
(C) Absolute referencing
(D) None of the above

Which number will come in the place of
question mark ?
18
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fef 357 far WO ) ! 4
.nd wi : “‘,\,V
: d 12 (S
ales 8) 35 ! (A) 60 m (8) 35m
() None of these (C) 70 m (D) =98 & #i 3%
‘.\‘ ™
‘) rom ¢ . - .
i “I'.lhb,“ CO{](_Cntfa es (EC) IS5 20, Wma el (.; m) =+ m%
gxample fo! ;ms (8) Endosuphan (A) ZHTergan (B) v2rgem
v ol s e
" 7...11.:“(-;'," (D) Cypermethrin (C) Fmaifra (D) ATy
arba t : e .
iR ‘bcrof mencanﬁnishap‘ei °tfhwork N 21 UEFE R x gy 30 ot & s w8 | o
* VT there were 6 men mo by oeriW?rkl ¥ egmmEn, @ T& #1410 27 92 w5
00 ished in 10 days less ST S | e ) o e Bpm
could be finishec RD i 50
number of men 15 (B) 10 Q)}(\,r h;)-73’ (A) & (B) 10 L4440
(A) 6 (D) 12 ‘\;07 (C) 15 (D) 12
(C) 15 he following IPC Section is | 22, Frafafes 3 @ 29-0 CIER i 9 7 3
Which amoggnze‘: Relating to Elections ? ©7 ©  weftm srrodi @ wafa 7 :
s ) 50 e 0 17
(C) 498 (b 1 ! Q\ .
international Day of Non-Violence is observed 23', Cghag W e feaw P
every year on 30 :
: (B) 2" October @ (A) 13T (B) 2 37yt
(A) 1* October N ;
(¢ 12" October (D) Noneof the above |©"  (¢) 12 sragae (D) 3% & & 7 7

The magnetic field inside a long, straight ‘2\
solenoid carrying current N\
(A) increases as we move towards its end
(B) is infinity

(C) decreases as we move towards its end

(D) None of the above %"%
100 x 10 -

(A) 780
() 29

100 +2000+ 100 = 7

(B) 920
(D) 979

ommand opens o palette of
“an select a colour
"d shading to the
. %N point or to any

24. Togq e s oo, @i v & e
I &7 2
(A) S-S 79 37 ) S, 99 v d

(B) 3= 8

(C) SH-I & 3 I I &, ] T

(D) I H 7 S T ¢
25. 100 X10 - 100 + 2000+ 100=?

(A) 780 (B) 923

(C) 29 (D) 97
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27 ements are given

ns. Choose the
logically.

In this question, two stat
followed by two conclusio
conclusion(s) which best fit(s)
Statements :

1. Allice-creams are irons.

2. Allirons are isotopes.
Conclusions :

l. Allice-creams are isotopes.

Il. Some isotopes are jce-creams.
(A) Both Conclusions | and Il follow
(B) Only Conclusion I follows
(C) Neither Conclusion | nor Il follows
(D) Only Conclusion 11 follows

28. From the given answer figures, select the

one in which the question figure is hidden/
gg embedded. (Rotation is not allowed)

&% [~
o |3 @) | |2
© | [ (o) ||

29. EDI stands for

(A) Electronic Data on Internet

(B) Electronic Data Interchange
(C) Electronic Data Introduction

(D) Electronic Data Information

30. Which of the following countries i

s no .
the permanent member of United Ng&ns
Security Council ?

(A) United Kingdom

(B) China

(C) India

(D) United States of America

Cancers which spread to other parts of the
body and proliferating are called as

(A) Inactive tumors

(B) Benign tumors

(C) Malignant tumors

(D) None of the above

31.

32. Atrain, 240 m long crosses a man walking along
the line in opposite direction at the rate of
3 kmph in 10 seconds. The speed of the train is
(A) 86.4 kmph (B) 75 kmph
(C) 83.4 kmph (D) 63 kmph
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33. In Haryana, G.D. Goenka University located at
(A) Karnal (B) Gurugram
(C) Jind (D) Hisar

34. With Rs. 1,000, one can buy 4 pairs gf trousers
or 8 shirts. What is the amount required to buy
3 pairs of trousers and 3 shirts ?
(A) Rs. 750 (B) Rs. 562.50
(C) Rs. 375 (D) Rs.1,125

35. Political Rights include

(A) The right to contest in the election
(B) Right to vote

(C) Right to elect representatives

(D) All the above

36. If in a certain code, ‘CHANNEL is written as
‘XSZMMVOQ’, then how will ‘COMPUTER’ be
written in that code ?

(A) XLNKGFvV| (B) XLNKFGVI _
(C) XLKNFGVI (D) XLNFKGVI s

37. When phenol is heated with w7 I Bl
benzene is obtained.

(A) Zinc dust (B) H,SO,
(C) Nickel- (D) Nazcr207

38. The book titled “The India Story” authored by

(A) Y. V. Reddy (B) BimalJalan

39. Who carved the Sphinx in Egypt ?

(A) Amorites (B) Assyrians
(C) Papyrus (D) None o@se

40. Everybody in a room shakes h‘ﬁds with
everybody else. The total number of hand

shakes is 66. The total number of persons in

the room is o
(A) 13 (B) 12 K
(C) 14 (D) 11 .
41.  Which of these is not a primary producer ? 41.
(A) Phytoplankton (B) Ascaris
(C) Trees (D) Grass
42. By defaylt Microsoft Powerpo
L Mi Point 42.
Presentation file is saved with (Zg(czzasion
(A) .doc (B) .txt
(©) JpeG (D) ppry
43, Complete the fol I
At (}i)l e ollowing analogy, i
f 9:729
" () 8: 448 o g 402
o, 1216
. 6-
ﬂé(\)ipq\k\\J\?
[
T YK
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(A) et (B) e

(C) ulfg (D) frem

%, 1,000 3 #01§ 4 SNl ereps a8 o vl i p |
3 aite) werept ofte 3 urd W) by qen wh) 7

(A) %, 750 (B) ¥, 562.50

(C) %. 375 (D) %. 1,125
rrefferen atfiranrd o wnrfier §

(A) FATE eg il il

(B) @Ye @1 st

(c) wfafafiral @) v wn sifven

(D) Fudrert @) |

ek ffzea e 1 4 CHANNEL %1 ‘XSZMMVO
foran sran @, @t 3@ ge o 'COMPUTER" %1
feran simum 7
(A) XLNKGFVI
(C) XLKNFGVI

(B) XLNKFGVI
(D) XLNFKGVI

w1 fbeter @ o e e e sy
2, e wr e e |

(A) St =of (B) H,S0,
(SREET (D) Na,Cr,0,

380‘0%'?: s w0 e yedes & el §

,(}5
(C) Raghuram Rajan (D) None of the above '0(\

NI L g
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fc; 8 : 448 (D) 6:216
y 5 \ ((,"
C W

Scanned with CamScanner



Join Telegram Group "HaryanaJobs.in"

e

)

A

&
s

CMES - 54

aa. Typhoidis hysee ?y M. g 6 BT e B
(A) Anabella typhl- % (A) well 215
(8) shiegella typhi ‘ i (B) gffitect a1gh!
(C) plasmodium falciparum (C) creIEaH wieHiqy
(D) Salmonella typhi . (D) @reAIAeel 2T
as. World’s largest vaccine manufactl,.lrer is 45. g & e w2 i Rt &
(A) USA (B) RUS.S'a (A) 3.%9.C (B) =g
(C) Brazil (D) India (C) & DYy
46. InIndia censusis carried out once in a6, A ITUE g AR
(A) 01 year (B) 10 years (A) 01 ) 1024 g |
(C) 02 years (D) 5 years (c) 02 (0) 5t
47. Consider the following statements about 47. gymesl aFEE '!ﬁGFn (&) ¥ s i
pradhan Mantri Vaya Vandana Yojana frmRifad HEAl T frem i |
(Scheme). : | 718 ST St s o (o,
I This is a scheme offered by the Llfg . 2 <1 @ T A R ) i?a;‘im-) EA
Insurance Corporation (LIC) of India gives al ‘ fore,
a guaranteed payout of pension at a ffdfe & T < T
specified rate for 10 years. 1. ﬁqﬁﬁqﬁw@ﬁm%wﬁm
Il. It also offers a death benefit in the form of e e of TR
return of purchase price to the nominee. )@591'—1 | 37 |1 25 T &
(A) Both the statements | and Il are correct &
(B) Only the statement | is correct 3() ) e 'mz
(C) Only the statement Il is correct Qo (C) el RS
(D) None of the above (0(\ (D) I9Ud | T I3 &l
\ * . ,

48. A theoretical perspective based on the néo§':a$ ) 48. nmﬁaﬁmaﬁﬁwm%ﬁmwﬁmm fapu
that social events can best be explained in e AER ¥ de H wEw &4 q T S
terms qf the cont.rlbufaon they mak the 3 . A
continuity of a society is 14
(A) Functionalism (B) Relativism (A) s[amdala (B) frtfefasn
(C) Culturalism (D) Socialism (C) H&FfaTe (D) EHISET]

49. If you want to type in capitals, activate the 49. IS 3y Fftee 31&r H Ifehd T =1ed ¢, Gl

key by pressing it once. @;,ﬁ 1 U I TSR 30 Al 1 |
(A) Caps lock (B) Ctrl (A) Caps lock (8) Ctrl
(C) Alt (D) Shift (C) Alt (D) Shift
50. Three different positions of the same dice are | 50. Th R i i i feafat g w € | e
__shown. Select the number that will be on the ‘4 T AT etk o faqdiq wers W @ ardll
E&g face opposite to the one showing ‘4" a1 gHu |
(B) 2 6
(€) 6 (D) 1 (€) (D) 1
Y9
-7-
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3 - Ry =, =3 f;;minu + feru Ferefy
sicl (8! ~ ——— Y ¥y ~ :
1) AlbuminoK £ ciiver (A) “Fﬂﬁl—ﬂgg ERILRET Jﬂ?ﬂ.? |
Q) Antimory sort Biven b (€) vdhureh 18) Hn
e ek ';‘Sl\’.:H repuvit e Y 52 o F OS5 o (D) a’fa
2 Coowrap B UK . Wﬁq f’m'*a AU Tin‘q et ar .
MO ring 0 Econam, ) 5 0 iy
. (B) Wiy Hderaes 3
CMIE 1 o 5 i
Q) SEB , (C) &fi R (.72t 4
n) State Bank Oof InQia \]l(a'q .
- e S r.:‘m ansibie for jn\’ESﬁgat‘ing and (D) éa h
53 S PO white-collar crimes/ 53. e aHEI St /fam i
prosecuting cases ¢ o) 3 Wit A i i s s
F—nds related to finance. ' m qqHF
2uds relate fSrem R |
: t °. N A s Ofﬁc (A) aiﬁ‘sn'g-_sﬁ.
B :\e":-s Eraud Investigation ¥ (B) TR U@y wife watery
) cs (C) .= 3,
D) Police (D) gfem
54. PowerPoint allows you to determine the size 54. YU 3T ‘{"ﬁ ’
~f the <hid . : . Sl D N
b‘.rfs'ceb\-chcosmg el :ﬂmmﬁ%ﬁ{mmém%
(A) Banner (8) On-screen show 4 (B) H-BhH-71
(C) 35 mm slides (D) Allof these o, {0) 35 mm¥EEE (D) I=f
55. Consider the following statements about One 550 T U, T 33 e & R 8 Fafefan sei o
Nation One Ration Card. @.5 faem =t | \
. The scheme is aimed at enabling migrang} |. T8 AISHT UK WTe G e, 2013
workers and their family member;&t & Haiia ov ¥ el oft et 3o gea A
buy subsidised ration from any fairrice g § dfeuEigad WH atied § yam
sho_p anywhere in the country yrder the HITI 37 3% TRER 3 wawdt i 5am
" T'iioonal Food Security Act, 2613 A 6T TR AT R |
system ldenpﬁes a beneficiary Il. 7 JoTTed! 3ferd e sht gl ot 31w
::f:SUgh diometric authentication on gt o ST o defishn & wem E @
e devices at fair price shops. aneff it wEEE AR |
- the statements | ang Il are correct (A) e | 31| T T 8 o
P Only the statement | is correct (B) haci e | T © Op ol
(0) t:: ;tatebr:ent llis correct (C) hee oM || 6 &
& o, leoftheabove (D) I | ¥ IS TR
. 1%&“argumem below ang answer the 56. ﬁﬂﬁf@ﬂaﬁﬁmﬂmmmml
= : _'kgvm:“sheloses she i '\-‘r*‘ :q&a_g EIIEII%,E'EGﬁHTlg |
2N Wil win, : -9 |
A Sbedidomnl;:\: * 8 logically congistent. S Wwwaﬁ,ﬁ??{g G
% g: WOn, she Io;tme did not win () TR qﬁ’a{? W
did not win (9,38 ’
, : .8
o ‘wozoshe did not '03&, s';‘eeuinot lOSe ((g)) ':': g;ﬁ_gﬁ’sﬂqﬁﬁ
B ) A nown a5 jag, aTeTE foRR e T 8 7
) Ali Adil shap, | 8Ury gagshah ? 57. STEIR wief stz e
(C) tbrahim gy h (8) Al Adil Shah Il (A) ot sfeT e | (B) gﬁgaﬂ?“ﬁ
11 (D) Ngne of these (C) ganfew afea ¥ I (D)
-8-
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A painted cube which is cut Into a
pieces of 729 smaller with minimy
of cuts. Now how many smaller P
no painted face ?

(A) 434 (B) 376
which one of the following place is known for

‘Chintzes’ cloth ?
(A) Burhanpur

(C) Calicut

n ldmllh.”
M numbe,
lh( 0y h“\/t‘

(B) Masulipatnam,
(D) Dhaka

Which of the following Committee has been
constituted to make suggestions on regulation
of Primary Urban Co-operative Banks (UCBs) ?

(A) Shashi Tharoor Committee
(8) Bimal Jalan Committee |
(C) N.S. Vishwanathan Committee g@g
(D) None of the above :
It refers to the marriage practice in which the
members of a group marry from within the
group members
(A) Exogamy
(C) Endogamy

(B) Hypergamy
(D) Homogamy

Read the data given below and based on it
answer the following question.

Six teachers namely, Abhijit, Binod, Chan%?,
Dinesh, Emraan and Farhan have_tbeen
scheduled to take Mathematics claf¥es on
Monday to Saturday for only week.
Each teacher takes classes on different days.
Number of classes they are allowed to take

are 2,3,4,5,6and 7 but not necessarily in the
same order.

Binod takes 5 classes but he is scheduled to
take class neither on Monday nor on Saturday.
Abhijit takes classes on Wednesday but not
classes. The teacher who takes 7 classes is
Sd?eduled to take class on Tuesday but he is
neither Chandan nor Dinesh. The teachers who
“®62nd 2 classes are scheduled to take it on
on ;:tm Ve days, The one who takes classes
Is xheufdw doesn’t take 6 classes. Chandan
duled 1o tae classes on the next day of

Farh'nos d"
ses, refers to teach on
Tuesday o mdw.Emraan ¢

3L Is the total number of classes attended
o Dinesh and Emraan ?

(B) Four
(D) Seven

Ny

¢
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R Qe w snavaes el R o gef) g 1 A |
forRYe 5 et o R g 37 9 q) dgan @) e
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65.

66.

67.

68.

69.

70.

Y9

Sponges are mostly
A B (B) AsyMmetrical

(A) Bipolar '

(C) Polar (D) Symmetrical
With which of the following Cou_ntries/
groupings, India launched @ bilateral

agreement ‘‘Partnership to Advance Clean
Energy (PACE)” ? _

(A) United States of America

(B) European Union

(C) Japan

(D) Australia

A clock uniformly gains two minutes per hour.
It is set correctly at 12 o’clock in the noon.
What is the actual time (approximately)
when the clock shows 6 o’clock in the
evening on the same day ?

(A) 5:20 p.m. (B) 5:48 p.m.

(C) 6:18 p.m. (D) 5:52 p.m.

The point ex-ante aggregate demand is equal
to ex-ante aggregate supply will be

(A) Excess supply
(C) Equilibrium

(B) Disequilibrium
(D) Excess demand

Inflation can also be seen as
(A) a reciprocal phenomenon
(B) a non-recurring phenomenon

(C) a no-reciprocal phenomenon

&

(D) arecurring phenomenon $

Which are membrane bou@vesicular
structures formed by the processof packaging

in the golgi apparatus ?

(A) Lysosomes (B) Filosomes

(C) Lysons (D) Lysokines

What should replace the question mark ?
A 7 M 11 20
9 H 6 L N
1 G | 13 | g ?

(A) O (B) 1

€T (D) P

What is the movement of fre

is the e organs/ E
organisms in response to chemicals 7
(A) Phototaxis (B) Thermotaxis

(C) Chemotaxis (D) Nastic

%
K\\‘

CMES -s4
63. wilw aftrat & &
(A) R (8) SwEf
(C) wea (D) P

wra 3 Prefeiaa 3 & fra 3u /e % 99w

64. 1 :
fRuef wwghar i g TEErE el G
()" =Y 3w fekan 7
(A) TgF T IR S0
(8) g & &5
(€) S
(D)

T T EY A R R A e A s S R | W

65.
12 5 Qe & wd o R | 3 A v aw
q@saa@ﬁaﬁué?m(mw)wﬁm?
(A) 5:20 p.m. (B) S:48 p.m.
(C) 6:18 p.m. (D) 5:52p.m.
66. TR qum win frafr T Sgfd & st R,
fig & |
(A) stfers gfd  (B) IWgET
(L g (D) 3tfersh AT
660%@%@ aftgear ¥ w9 # ¥ w0
,05 gehell ® |
7 (A) g
(B) TG
(C) =gohu Ued
(D) 39w

68. et s H A%Rmr ) whwen g fififa fieeh @
st g3 Atrper deaTd A e F 7

(A) STEEEY (B) Treram
(C) wsEI= (D) =mgHifeR
69. S 3578 % T W R fern s 7
A 7 M| 11 H | 20
9 H 6 L 4 N
el i B N T 8 ?
(A) O (B) I
QT (D) P
70. @At < wiafwn 3 ga o /shai iy e
(A) BrRfRE (B) emTefad
(C) FmfRam (D) e
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If LIGHT can be coded as 1297820, then DARK

can be coded as
(A) 4111676
(C) 412376

If 5% January 2001 was a Friday, then

25" December 2001 was a

(A) Wednesday (B) Thursday
(C) Tuesday (D) Monday

Read the given statements and identify the
type of soil related to all of them.

i. Itis also known as Regur soil.

i. Itis generally clayey, deep and

impermeable. .
iii It retains moisture for long time.

(A) Alluvial soil (B) Black s?il
(C) Mountain soil (D) Red soil

(B) 411811
(D) 412346

Inflation in the price index excluding food, fuel
and other volatile components is called as

(A) Tight inflation (B) No inflation
(C) Core inflation (D) None of these

It describes how “any action that is repeated
frequently becomes cast into a pattern, which
can then be performed again in the future
in the same manner and with the same
economical effort”
(A) Habitualization (B) Amalgamatioz\
(C) Consolidation (D) Coalescing®®”

What will be last digit of the 3 numbé&rfrom top

when the numbers given below are arranged in
descending order after reversing the position

of the digits within each number ? (R4 )
517, 325, 639, 841, 792 gﬁr“
(A) 5 (B) 7 b 2]
(€) 3 (D) 2

e ] refers to the operating system
tha't is self-contained in the device and
resident in the ROM.
((’;)) iﬂm?gdded Operating System
0 8 Ultiprocessor Operating System
i atch Processing Operating System
Multiuser Operating System

In Which of the following fruits, the

albuminoys seeds are present ?
A Mango (B) Apple
) Papaya (D) Pear

-11-

75.
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0’9
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N

1,

72.

73,

74.

76.

77.

78.
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w1 e 1297820 ® o s
ufy | grt, 0R @ DARK 1 g
1ree

< em
)
N
’
1

\

1"“"”‘Y
(A) 4111676 (B) 411811
(C) 412376 (D) 412346

ufy g gl 2001V LA A1, A 25 fagran
200 1 e Larny
(A) ,‘J’H'”l (B) THam
(c) grrer™t (D) #ream
f;g, . zw-l'l %l ‘{r:; ;q‘l( 39 qof j raifr: K
n‘;ulzﬁ e i | 1 4 waifira forgh 3
] @Wﬁ?}?%mmﬁ ST |
i gﬂ?ﬁ?'g“la T Fraeft, el st s
i, 8 o AW e o e e 2 |
(n) sreita el (B) e fied
(c) wers hl (D) e firdy
Mo, 18 @T’R I witadefier e i frae
A qEhE A TR wwem
(A) TEd BEEhIfd (B) Harehif T
(C) TS i (D) T B RS el
St e & 6 360 ‘e ot B S -
S R, T e o aed Al ®, S vifae
3 fpe § 3et a0 & 3t 3t anféfer e & |y
SRS 1K eCor) i
(A) 3TEaH (B) firsror
(C) wHEHA (D) =rAfam
mﬁ?ﬂuﬂmwaﬁnaﬁmmw:ﬁ%a
T8 TR o U 376 o iax 37! ol feufd
3612 % W18 TR shH § A feerg fRar ST g 7
517, 325, 639, 841, 792

(A) 5
(C) 3

(B) 7

(D) 2
% ded 3@ auifen Rrem @ & A
feamgq o werRiqul grar ® 3T ROM # T 2 |
(A)-gHeIgE e Rreen
(8) feesiiem sqfn fren
(C) 3% SrAfT srAf Rrew
(D) Wfeege sqfen firen
FretteifRac 3 & fare et 3 wsgfig dffer g T & 7
(A) 3Ty (B) aq
(€) Tt (D) AT
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of of B - - o
< ene daugMt® DT B A~ g1 79 Aspwmad R A B THE A
A + B means A |sbt:,:d of B, AX B means a is A B AR | Ax B i!ﬁ? B %1 ndf
means A is the hus / : ‘ SA BHFIIER
the brother of B. e folowing i afe pxQ+ R, @l f.tu{fﬂf‘ramj A F-m
fpPxQ+ R, then which oft a7 ,J‘\\ NA\
true ? ‘R (A) P, R firer s
(A) Pis the father © (B) P, R e =ran §
(B) Pis the uncle of R I ; P, . A
() Pis the son of R s (C) PR&®TYAR
(0) Pis the brother of R - (D) P, R a1 Wi &
The use of the Internet or other electronic | 8o, el sfad, saffl & wgg @ vE dE ®)
means to harass an ipdl\{ldu?" a. group of T F & fore decie an o s e wel
individuals, or an organisation is termed & I9ANT H HET ST R |
(A) Pornography (B) Cyberspace (A) DT (B) rgeEry
(C) Cyberstalking (D) None of these (C) wrgsITEifen (D) %8 | 13 7
Consider the following statements about | 81. 3 fa9w anfdle & (wwide.) Fan #
Special Economic Zone (SEZ) of the country, Fr=fefiaa wuat v fmmr wt |
|. They are industrial zones being set up by . 3 Stenfien R R
the Central and State Governments in Q faftr swont o g oft v=a wEw
different parts of the country to attract *Q%’ 0 Ertfore fofa e R e s
foreign companies to invest in India. 50 ﬁﬁ%ﬂﬁ%mﬁﬁﬁmﬁiﬂ
Il. Companies who set up production units in Q"b H Wﬁ'ﬁ IERIE L
these zones are exempted from taxes fo» Il 371 ?3':13(.‘5( EISIET S’&ﬂ'{‘ﬁ wﬁa Ercke il
an initial period of three years. (b\ e Eﬁ A ATt 6t I orafy &
Choose the right option given below : IGETR: G fER
(A) Both the statements | and Il are ¢orrect Frefafaa o @ a& ﬁm.ﬂ T W
(B) The statement Il is correct 3> (A) e | A 11 A1 &l §
(C) Both the statements | and || are (B) o Il WEl & . :
incorrect (C) e | 3 11 T w7 &
(D) The statement | is correct (D) % | &t @
The average weight of 13 crewmen in a boatis | 82. U AT U S« T 55 form asH méwrﬁﬁaﬁw
increased by 1 y, wHert SR U safFa @ weet foar s R}, d 919§ gan 12
¢ e
crewmen wh W _ it et afvaa sk L fem wg @R o
a new man. &S,f,::ei'ght 1s 55 kg is replaced by hll ik ho ‘
man ? * the weight of that new 30 U SR 1 A R 7 9’%
(A) 59 kg (5 (A) 59 fFm (8) 60 fwmr ¥
(C) 57 kg (D; gg }:z s (0) 58 fem
g .
:r’:)erams that t '8 collectigy of system 83 i m,?gjg g:ﬁ(
at toge ¥ || sme——
operation of 3 ?n;tir Contl’ols t foreen & yR=Ed &) U §™
(A) Memo €1 System (a) R gfe
Iy unit afwedat
(B) Application Software (B) weeftahe
(C) Operating syste, () anmaxfem fereeH
(D) None of the above (D) Iqdaa § @ ®§ Tl
120
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The report on children under nutrition is given
by NFHS. NFHS means

(A) National Fixed Health Survey

(B) National Family Home Statistics

(C) National Family Healing Stage

(D) National Family Health Survey

84.

“|ogistic growth model is considered a more

realistic one” because

(A) population become limiting sooner or
later

(B) resources become unlimiting sooner or
later

(C) population become unlimiting sooner or
later

(D) resources become limiting sooner or
later

The Equation of GDP,, is
(A) C+1+G+X-M

(B) GDP,,,— Dep.

(C) GDP,,,=R+W+i+T
(D) GDP,,,— NIT

85.

86.

87. The United Nations Secretary General is
(A) Antony Glamark (B) Antony Carnad

(C) Antonio Guterres (D) None of the

<

88. Which of the following is an im

p@steel
city of the United States of America™

(A) Ohio

(B) Lorain

(C) Colorado

(D) Pittsburgh

OFA0
’éj
G A0)

89.

is a self-replicating program,
which is self-contained and does not require a
host program.

(A) Virus

(C) Malicious code

(B) Worm
(D) Torjan horse

90. Who among the following won Ostrava Open
WTA Doubles Title in 2021 ?

(A) Sania Mirza and Kaitlyn Christian

(B) Zhang Shuai and Kaitlyn Christian

(C) Erin Routliffe and Kaitlyn Christian

CMES -S4

84. arery #f T A1 FAE NFHS a1 R | NFHS 1
319 & i
() e s 2ed T
(©) gt et B 2
(D) WW%—&W@

Wgﬁgmﬁmmw
ST 2, D

(A) @ T 71 2T @ Hiftasrd 8 5
(8) g Y9 41 A sreifiasr 8 S §
(C) ST ¥TE A1 R Sl & e §

(o) T ¥ 1 ¥R il € &
86. GOP,, ! HIHTT &

(A) C+1+G+X-M
(8) GDP,,,— Dep.

O @.@DP =R+W+i+T
s MP

5@%\%) GDP,,,— NIT

(OQ@. HeE T, o HEErd ©

\ (A) G TeiHTE (B) GH FHIS
(C) T mem (D) I § & IS T

friferiaa & & SH-a1 G Tsd IARH H T
e e e R ?

(A) SHifean

(B) &

(C) FiASl

(D) firzgrent

T T A T ISR &, ST ST
% 31N R T B e o A T § |

(A) I (B) =
(C) wfefias FHie (D) 2rtq wrd

2021 7 Fr=ferfiae o @ e sfrgran 3w e,
AL I Raqa s & ?

(A) W i af Freferm fonfeam

(B) ¥ Y o Fefem fnfeaa

(€) U tefrw oiv deferm Brfam

85.

88.

89.

90.

(D) Sania Mirza and Zhang Shuai

(D) Wil iyt afv i %
Y9
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i sen e e |\||'. l)(\““ given iﬂu!‘ wran
91, In the questiom € Goice, out of the {
in active/passive V("ll‘(. the One which b‘(’“: 96 -
we ) .‘V‘-‘"'."‘ o o) ¢ ’ 1] . \ A, ¥ Y. ; .
:E:I;;r?\_\‘llétliili\l L.:nms.cntmm In Passive/active A, WA, war 32 e @
voice. e (A) sHefeara fag
When Rakesh arrived home, POl'Cf‘ :'r' ested him, ' fayo
(A) When Rakesh arrived home: he was (B) srquiieraneres fagmor
arrested by police: ity : .
(B) When Rakesh arrived home, he is (C) yuitemaiee g
arrested by police. ‘ LI
(C) When Rakesh arrived home, he was (D) ¥4 =g e
being arrested by police.
D) When Rakesh arrived home, he had 1)
P been arrested by police. 7. fi."”'.“-'”“, yeraet 3 Iamrac fra %i{ﬁ
92. Fill in the blank with appropriate word from & atenfa s ¥ 7 ol
the alternatives given below. (A) fid
A9
| found him standing the crowd, dolal
(A) in (B) among (B) @
(C) besides (D) between
93. Write the word denoting sounds made by th (€) e
noun subjects, from tEe alternati Y, e ;
4 ves given (Rl & e
Hoofs \Q%’
((/é; el (B) chatter ?0850 e gfeer v @, e S w9
. tf:rac (D) crackle (OQ (A) Fraed
. The following sentence contai ol
; n
g[]r?:hoart Iglac:{naft\:herror in it Yofj r:\:gr?;gﬁ 5 G
0
alphabet of that pz;arts :?tt%ro\ac:nas'\)\?efhow b R
T . \ .
gy atteg it utof e oo (o) 3t &
orerizatic employees of the 99, ‘s’ o foreim wed @
(A) is palpable
a
(B) left out of th ngong (A) &4
(C) empl € bonanza
ployees of the organisati (B) @Aftren
The angry at being ganisation.
95. In the f (C) T
ollowin :
th ’ e is a statement
Ay an\c’i c_"ggcitarters which are denoted (0) ¥ & ¢ T
c;’;‘;e\g‘ words of 3 :Jﬁ{gi{ is a group of the
Meaning ‘e"h:“gg°fed : cfecof,ﬁ{, ?ﬂepgggneé 100, & e ol a8 7
W"(ﬁ{ ‘:gcango?:: s‘ti';i’:’-'mc-:nt.“Find out (A) forer s @ e U fokarT <Rt AT 3 e
0 €0 mati
?:sr?;‘“:r‘yrumm‘f the s.maef‘cnieg,ﬁﬁ{ge:; g o a2 | A
g h : &
succoel?s,the “m\;a?ge:t §° Persyade people (BLEILE %WWQW%W%
b, :g\:f%%ld not attai’ ¢ could notpattgin F AU e | £ M
r n... e s &l
& lnsp‘teoft?""ﬂhlsh = (C) mmaa‘mﬂ%ﬁmﬂﬁw
ither b o
b {g; Only b (o) g & wf 7
Sn——
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